+5VA o OQut L N
+5VA
© c35 1%
c14 €33
usc > +1C10 +|c31 sy
ADB532 0-047u o
1 04u 100u 100u | 0.1u 2L %
- R18 sl a
" [Tok} GND  GND o[
u3B U3A
1 oND AD8532 AD8532 RN Us
y S AP 1 8
d 3 mo < LL foutn vop (-8 Connt
‘ . R20 8 ~ ¢ Il_lii AUD_IN  OUTP Z o Out L P 1
Audio_In 2 2 + . xsg %4)(5 L o
S N c28 3
e <N 4
o] HTB2V739
1u 2 18
A4 Headphones
GND e P v vee | o7 -
e MJ—354W-SG GND  GND 8
close 4 SP_AMP_enable 1 o
3
g J3 JP5 open 10
U4B U4A 2 2 o OQut RN ~
AD8532 AD8532 B +5VA GND
+ © Mono
3 R21 Npgw >
1 o GND C36 17
= > ¥ +|c32 | c34 2
T L Stereo 0.047u 1 5
=3 w 100u | 0.1u 2 o
ooz a
dle »
GND  GND o[
GND +5VA \%
GND Y GND 5 o U6
JP4 close ‘_i S L outn VoD -8
+5VA A\ +5VA o 10k ® 2 7 Out R P
=19 ] AUD_IN ouTP
+ C15 +|c17 3 1 VREF NC -8
U4c > —4vss TE 2
c ADBS32 | | ,* +5VD 30
o T 100u FB3 HTB2V739
o |
z 3.3V B
o o [ p ~
SW_SPDT GND c18 x3 GND  GND
7 8 - i 5 6 SP_AMP_enable
> SP_AMP_enable 0.1u 8 o Loy
<E O 105
GND 3 12
SP AMP MUTE n vee N
15 PWR_FLAG F1 PWR_FLAG
+5VD 3.3V ?a;: < Polyfuse T gk o
+6V FB1 U1 20 —4 ° PP Sle w
Ferrite_Bead
~ NJM2845DL1-05 c19 = o«
’ ;2. J5 D2 €37 c38 |+ - z
i Vo 010 s To +5VA gy PWR_FLAG 2 i S N
= . 265 fonite Bond PR 1N4007 0.1u 470u >=R\
5 ) 27). |28 errite_Bea ? o [
o 2ol 1s0 . 5
0.1
100u u 10u Bl 32y <
T x%: ;;’ GND GND
i P ToX
GND +5VA RIS 370 138y 100u
39 40 =% GND
+6V  FB2 U2 C_o —
Ferrite_Bead NJM2845DLL—05 GND GND 1
5 2
LRCK 3 JH4VA)
€10 +|c11 g’é}A : Sheet: /
< File: RZDAO2_main.sch
10u 100u
GND To-bac Title: RZDAO2_main
Size: A4 [ Date: 2020-08-27 Rev: 0.9
KiCad E.D.A. kicad (5.1.6)-1 Id: 1/1

1 [ 2 [ 3 [ & I 5 I




_, J103

Speaker
N [

Conn2

i

o

J101———

8 mHm

lg

SP L
J1o8

MJ-354W-SG

T

J105

Ext. Speaker
Left

o J102

Speaker
N =

SP R
J109

MJ-354W-SG

T

J106

Ext. Speaker
Right

J107

J104

PWR

Jack-DC
1

3
2 l./\

PWR_FLAG
LT

4
GND

JH4VA)

Sheet: /
File: RZDAO2_sub.sch

Title: RZDAO1_sub

Size: A4 [ Date: 2020-08-10

Rev: 0.9

KiCad E.D.A. kicad (5.1.6)-1

A

I

Id: 1/1




* XA 2B

BRES m/ EBHEF dA>Y b #=E N\—VYEYbM|FIVD ?{Hﬁm:_ )
WA 8%

C3, C4, C18, C19,
C20, C22, C26, C37 0.1u Fw T /2012M 8 P-14573
C9, C10 10u Fwvw T /3216M (2012MTHH]) 2 P-14741
C12, C13 (0.47u) SE5mm (2)
C28, C30 1lu =&5mm. Fv T (2012M) THA] 2 P-15331
Cc27, C29 1u SaE5mm. JaJ)LATdY (0.47uFl EDTER]) 2 P-09792
C14, C15, C33, C34 0.1u =&5mm. Fv T (2012M) THA] 4 P-09790
C35, C36 0.047u 2 P-05331
C5, C6 10u / 10VL E masmm. 1uF EDT 1 I)LAT> TEH 2 P-08377
C7, C8 10u / 10V E =mE5mm 2 P-08377
Cc21 100u / 10V E < THE., [FIFDRSKESREIELE 1 P-02724
C1, C2 100u / 16V E {RESRAR. OS> #E%E 2 P-08290
C11, C25 100u / 10V E {RESRAR. OS> = 2 P-08290
C16, C17,C31,C32  |100u / 10V L BEE5mm. 220pFCHH 4 P-08375
C23, C24 220u / 10Vl E =maE5mm 2 P-08375
C38 470u / 16V E {KESRmIELEE 1 P-02719
D1 LED warm white 3mm (BEEE) 1 [-06414
D3 LED green 3mm (BEEE) . J\RILICEUTF (1) 1-06413
D2 1N4007 YRR A A—R 1 1-00934
F1 RUXAwWF 3A (16VEL L) 1 P-00769
FB3, FB4, FB1, FB2 JIo4 hE-X FwF,/2012M, TERIAL L 4 P-04053
J8 E>AwS LB 1x10 2.54mmEwF 1 C-12986
J2 E>Aw4 2x20 PEIO>TJE>Y4SwY k C-05780 THHE] 1 C-00085
35 Molex 5045-02A 2.5mmEwF (1)
16, 17 IST XH 2pin 2.5mmEwvF (2) C-12247
J1 JST XH 3pin 2.5mmEwF 1 v C-12248
14 ST XH 5pin 2.5mmEwF 1 v C-12250
19 Molex 530470210 PicoBlade 1.25mmEwF 1 v
13 MJ-354W-5G 3.5MMASL ANV IA vV D 1 C-15403



https://akizukidenshi.com/catalog/g/gP-14573/
https://akizukidenshi.com/catalog/g/gP-14741/
https://akizukidenshi.com/catalog/g/gP-15331/
https://akizukidenshi.com/catalog/g/gP-09792/
https://akizukidenshi.com/catalog/g/gP-09790/
https://akizukidenshi.com/catalog/g/gP-05331/
https://akizukidenshi.com/catalog/g/gP-08377/
https://akizukidenshi.com/catalog/g/gP-08377/
https://akizukidenshi.com/catalog/g/gP-02724/
https://akizukidenshi.com/catalog/g/gP-08290/
https://akizukidenshi.com/catalog/g/gP-08290/
https://akizukidenshi.com/catalog/g/gP-08375/
https://akizukidenshi.com/catalog/g/gP-08375/
https://akizukidenshi.com/catalog/g/gP-02719/
https://akizukidenshi.com/catalog/g/gI-06414/
https://akizukidenshi.com/catalog/g/gI-06413/
https://akizukidenshi.com/catalog/g/gI-00934/
https://akizukidenshi.com/catalog/g/gP-00769/
https://akizukidenshi.com/catalog/g/gP-04053/
https://akizukidenshi.com/catalog/g/gC-12986%20/
https://akizukidenshi.com/catalog/g/gC-00085/
https://akizukidenshi.com/catalog/g/gC-12247/
https://akizukidenshi.com/catalog/g/gC-12248/
https://akizukidenshi.com/catalog/g/gC-12250/
https://akizukidenshi.com/catalog/g/gC-15403/
https://akizukidenshi.com/catalog/g/gC-05780/

* XA B (DDE)

—— Bl e N = | " “ #MABRI—R
HBmEsS mi/ EBHE XA g |/\=vYEeybh|FTIVD P s
P2 E>Aws 1x2 2.54mmEwvF (1)
JP3, IP4 close IS ) (2)
JP5, JP1 open INAZw ) (2)
R24, R25 10 15QTHEH] 2
R20, R21 15 15~22Q%2E 2
R18, R19, R2 10k 3
R1 47k LEDDBRB & (CEE TR 1
R26 100k LEDDEAB & (CEE TR 1
R11, R12 (100K) (2)
R14, R15 (47k) (2)
R17, R13, R16 24 FvF/2012M. 92 E>DR (BHQMET) 3 v
R3, R4, R5, R6, R7,
R8, R9, R10, R22, R23 |51k FwF,/2012M,. TENIE1% 10 v
RV1 10k/SW 10k~50ki2E (AH—THERLWA'BTER]) 1 P-05080
SW1, SW2 SK12D07G4 AS5A RAXAwvF SPDT 2 v
Ui, U2 NIM2845DL1-05 LDO =imFLF+a1lL —4 5V 2 1-11298
U3, U4 AD8532AR ART T 2 [-16748
U5, U6 HT82V739 A—F 14 A>T (SOP)\wo—=) 2 1-13356
EiR RZDA02_main 1
* BT Bk
BRES B NS ARk wE | N—vey b |Fryy| oEmI—F
WA ot
J101 E>Vow LA 1x10 2.54mmEwF 1 C-12984
J105, J106 MJ-354W-5G 3.5mmMASTLAAYIA DYV D 2 C-15403
3108, 1109 IST XH 2pin 2E—HEAESEZHE (E>AvATER) | (1~2) C-12247
1104 Molex 5045-02A AKI-DACH S EEE AT DS (1)
J107 DCZv w7 1 C-06568
EiR RZDAO2_sub 1



https://akizukidenshi.com/catalog/g/gP-05080/
https://akizukidenshi.com/catalog/g/gI-11298/
https://akizukidenshi.com/catalog/g/gI-16748/
https://akizukidenshi.com/catalog/g/gI-13356/
https://akizukidenshi.com/catalog/g/gC-12984%20/
https://akizukidenshi.com/catalog/g/gC-15403/
https://akizukidenshi.com/catalog/g/gC-12247/
https://akizukidenshi.com/catalog/g/gC-06568/

*20> MRV

HEES R,/ TS aX>k B8 | )—vEy k| FIvs Z‘;’m:;;
RU1—LAYY= RUI1—LDOBICESED. PIFHT 1
PicoBlade 2pin o —JJ)L77tz> TV 1 v
LED green 3mm (BEEE) . J\R)LICEYTF 1 1-06413
LEDF+ v 3mm 2 1-01126

*—ABE

HEES R,/ ENE aAS R B8 |N—veyh|FIvs Z‘gﬁm:;;
v E>ITEXR 3x5/ BEiREUT T 6 P-10254
A2 RAT M3x15 AX—A X /DACEMSFF 4 P-07314
245> RAT M3x10 AR— AR,/ DACEUTFF 4 P-08164
ZA_R—t M3x4,/ DACHWs 1+ 2 v
FRE R M3x6,” DACEUS [ 6 P-10245
ME 2 M3x12,/ DACHUH(FH 2 P-15449
T—2 SY-110 1 P-12053
0> SRV RZDA02_front 1
ANETIAC SN, RZDAO2_back_a 1
JAw 27)8RILB RZDA02_back_b 1
Z2E—5 BEFHT 1 P-10366
MEZ M3x8 ZAB—AICAET 4
Fwv kM3 ZAE—HICEET 4 P-11521
ACTH %5 6V (2ALL EH#E5E) 1 M-08308



https://akizukidenshi.com/catalog/g/gI-06413/
https://akizukidenshi.com/catalog/g/gI-01126/
https://akizukidenshi.com/catalog/g/gP-10254/
https://akizukidenshi.com/catalog/g/gP-07314/
https://akizukidenshi.com/catalog/g/gP-08164/
https://akizukidenshi.com/catalog/g/gP-10245/
https://akizukidenshi.com/catalog/g/gP-15449/
https://akizukidenshi.com/catalog/g/gP-12053/
https://akizukidenshi.com/catalog/g/gP-10366/
https://akizukidenshi.com/catalog/g/gP-11521/
https://akizukidenshi.com/catalog/g/gM-08308/

*Raspberry PI. DACESE

HRES B2 TS IS WE |S—wky k| FIys z‘ag,am: %;Z

Raspberry Pi Zero WH 1 M-12961
Raspberry Pi HAR—Htzwv 1

microSDA— R 8GBI t 1 S-13002
DAC 1

XH 3pin 5= J)L7t&>TV 1 v

XH 5pin —=JJ)L7t&> TV 1 v

QIOx5F)\I=>7J 8pin 1 C-12157
QI OxxUFAI>FU 5 C-12160



https://akizukidenshi.com/catalog/g/gM-12961/
https://akizukidenshi.com/catalog/g/gS-13002/
https://akizukidenshi.com/catalog/g/gC-12157/
https://akizukidenshi.com/catalog/g/gC-12160/




o

§ ar L00HNT
IRINNEEREE _\|
urrapny Tr oggol owr

Cannl

CSTG Lu

PUl}'fUSQ — ——1

Fi

g A=t |
™ ™ £
nT oJse>
[ TTR] Ell Lr 5 O
q 13yEads Y 13yeadg +a4
ceg k] Naﬂ pean @143y
uvadpg

BELAZELH - Emm g

A = 3 Dlgg ™
(167 4] o il = A r
! 2 =
- m.m;NmE AR O
N3 El = 3
d - @ = = 2 -
z o e = O
] H £2
— L
) =
15 2 ST I - 9
oy s 5 . o =
- o S| onpode) o =
:M ZiSkOv atd 4TS I =
i A 415 6w mmmm% i o 1
u:_W_ £n EilE= :m L L 7 = o
Cy T 1894 RIE 5 =
— 175 = o 2 =
o il | e ~ .l_H_
5T Ll ol z = -
e || = m. mw

nTo [s15] not @79
:HD
@ =
nTD

d

by

A

(1=

Hmm i

4] L=

— =~ m =

£z = 3 | O - =

a5 = -~ -

o o 2| 20| o [20Z
Spym wiEs 93]

R22
151k

TEET
F=2011 g @

)

(BPamiAICER




F02607H0 3E~7F

N

N

%

AAITMANTANTAANTANT AN N

WIWIWV IV IV IV IV

ANTANTANT ANT AN T AN T AN

WIWI\WITI\WIT\WT\WT\V

AMATITMADATMATATMATATATAA
WIWVI\VWV IV IWVI\WV IV I\
ANTANTANTANTANTANT AN T AN T AN
WIWIVWV IV IV IV IV IV
ANTANTANTANTANTANTANT ANT AN
WIWVIWI\WVI\WVI\WV IV IV TV
ANTANTANTANTANT AN T AN T AN
WIWI\WIWVIWVI\WV IV I\
AMATANTANTANTMANTANTANTANT AN
WIWVIW IV I\UVI\WUV IV IV IV

AMATITMADATMATATMATATATAA
WIWIWIWIWI\WI\W W

N

%

%



jh4vaj
タイプライタ
F02607H0 実寸


	Copied Bookmark
	Kicad_BOM


